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using Microsoft.VisualStudio.TestTools.UnitTesting;
using TestCommon;

namespace A3.Tests

{

[DeploymentItem("TestData", "A3_TestData")]
[TestClass()]
public class GradedTests

{

[TestMethod (), Timeout (2000)]
public void SolveTest_Q1MinCost ()

{
RunTest (new Q1MinCost("TD1"));

}

[TestMethod (), Timeout (2000)]
public void SolveTest_Q2DetectingAnomalies()

{
RunTest (new Q2DetectingAnomalies("TD2"));

}

[TestMethod (), Timeout (4000)]
public void SolveTest_Q3ExchangingMoney ()

{
RunTest (new Q3ExchangingMoney("TD3"));

3

[TestMethod (), Timeout (30000)]
public void SolveTest_Q4FriendSuggestion()

{
RunTest (new Q4FriendSuggestion("TD4"));

}

public static void RunTest(Processor p)

{

TestTools.RunLocalTest("A3", p.Process, p.TestDataName, p.Verifier,
VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);

}
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Computing the Minimum Cost of a Flight'
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A3

{

public class Q1MinCost : Processor

{

public Q1MinCost(string testDataName) : base(testDataName) { }

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long, long, long>)Solve);
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public long Solve(long nodeCount, long[][] edges, long startNode, long endNode)

{
//Write Your Code Here
return O;
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;

Detecting Anomalies in Currency Exchange Rates"
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using TestCommon;
namespace A3

{
public class Q2DetectingAnomalies:Processor
{
public Q2DetectingAnomalies(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long>)Solve);
public long[] dist;
public long Solve(long nodeCount, long[][] edges)
{
//Write Your Code Here
return O;
}
}
}
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using System;
using System.Collections.Generic;
using System.Ling;
using System.Text;
using System.Threading.Tasks;
using TestCommon;
namespace A3
{
public class Q3ExchangingMoney : Processor

{
public Q3ExchangingMoney(string testDataName)
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: base(testDataName) { }



public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long, string[]>)Solve);

public string[] Solve(long nodeCount, long[][] edges, long startNode)

{
//Write Your Code Here
return new string[] {""};
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A3

{

public class Q4FriendSuggestion:Processor

{

public Q4FriendSuggestion(string testDataName) : base(testDataName) { }

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long, long[][], long,long[][], long[]l>)Solve);

public long[] Solve(long NodeCount, long EdgeCount,
long[][] edges, long QueriesCount,
long[] [1Queries)

// Write your code here.
return new long[] {0};
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